David Youngberg

Econ 310

Lecture 07: Balance of Payments
I. Trade & Technology
II. The trade deficit
a. Recall that Exports – Imports = NX (or the balance of trade).
b. The “deficit” is when imports > exports, or when NX is negative.

c. People are very concerned that the US’s NX is negative, seeing it as a sign of a weak economy. There are several things wrong with this view.
i. Trade deficits occur within countries.

ii. People are buying things they want—utility is increasing.

iii. The trade deficit is only part of the equation. This last point warrants further exploration.

III. Balance of Payments (BoP)
a. All trade activity can be summed up using the following equation: NX + CA = 0.
i. Where CA is the capital account, or the net flow of investment. Note that sometimes NX is called the current account, as in the flow of goods that currently exist, while the capital account speaks to the money used to create capital, the investment.

b. In trade, the domestic country gave up their currency for goods and services. Abroad, this currency can have three different uses:
i. Import from the domestic country (NX).

ii. Invest in the domestic country (CA).

iii. Circulating it outside the domestic country. In this rare case, the domestic country got a very nice deal, swapping paper for goods and services (thus in practice, BoP may be different from zero; we will talk more about this later).
c. The intuition on this can be difficult to grasp, but, in the words of Deepthroat, “following the money” can be very enlightening. The only reason people would accept currency that’s worthless in their country is because they think they can use in the country it is worth something. This again harkens back to PPP and how they influence exchange rates.
d. Another bit of evidence is this graph showing the current account, capital account, and the sum of the two (BoP). Note how one account is almost the perfect mirror of the other and the BoP always hovers around zero. (Source: BEA, International Economic Accounts).
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e. The trade deficit is not, repeat not, debt. It is merely an arbitrary distinction between the flow of goods and the flow of investment. Indeed, it is through this inflow (and by extension the trade deficit) that allows heavy investment despite the country’s low savings rate. In practice, people like the trade deficit: instead of saving their money, they use it to import!
f. Notably, many of the investment inflows go into foreigners buying government bonds, in essence funding the government’s debt. This has raised alarm in many circles. Is it a valid concern that “the Chinese own us?”
